0
' _ ) — | 280. Find the remainder:
q AY AT

10 2 53110







2 &[. The sum of the digits of a number N is 23.
The remainder when N is divided by 11 is 7.

N’-'- ”Q‘l‘ 7= 2bt What is thefemainder when N is divided by
337=2x1] .
lla+5=3b foelt wEar N & 3T FT AT 23 BN
J # 11 ¥ f[aufed F&@ W A6 7
| % gadr 81 I9 N #7133 ¥ Qufoa e
v ST & a ANBer FAT T=dT 87
(=2 a)7 _bJ29 ¢) 16 d) 13
e?s\
- =;L
3
Qg_s — 9 K

D s



Some misc. questions:




5 j qgm 72€2 . What is the remainder when 7+ 77 +
p 7 l 777 +7777+......+ (till 100 terms) is
T47+777+7327 7+171177¢ divided by 8?

I 7+77+777+7777+...... + (100 9aY
-.-4777... d®) # 8 ¥ T F& W FT

\

\p)U‘l

(@9 rrer @12
4 46 b) 0 01 d)7
~
l1-&*29\2\)6 no. «fovw*&d bg laxt =2 dicrtc
12 +ag 7
g

D | s



5 ci, 5 _02&%.Whatis the remainder if 115 +215 43154+ +60%is
IS 98P divided by 4?

LN 'iu‘i"g‘s 15 12154315 16015 H 4 ¥ R F&

+Z 43 © O AW T qr §

4 /FO’ b) 1 c)2 d)3




Y (ID/, (4 28“' 1014102 +103+10%+-evvee. +10100
6 ;ﬁnd Remai
TU’ T U'-t Y+ Y IOOdT'Zl: 101+102+103+10% ++eeveeee +10100 ainder.
yleuBy®y o> 8 ¢ 1 AT T W |
T+Y-- )1 02 d)0
6 —
€ )10 (/
&




'—=17
\y 17 =\1 — ‘7

34)289 (¢
N3

\7
\73~—3

285 Find the remainder if 17 + 172 + 173 + ... +17" is

“divided by 34?
17 +172 +173 + .. ... +17V7 N 34 ¥ fQafaa
FE W AV A AT HP?

a) 0 b) 1 /ﬁf d) 33

\7\‘\',7; \7’*'_ - .- 17 = |7x,7=28q
1 T+17 +|-7r5+‘ Ry "gq'”
3Y




1] +l72+l7g+|7v+ o . . -H7'7
24

I+ +1 .. ..
. 1= 17
=7 (It s HT6) 3T

™ '7

D —




286 Find the remainder when 101" 4 1010 4
101+ ... ....+101°% is divided by 7.

1010" + 101* + 101+, .. ........+101° F 7 &
Rafara 3 9T AYF FAT 3TTIM?
a) 0 M1 )3 d) 4

| ‘& 4%, 5%

- . +3
?3“4‘?;4-#3\4-} - .+?>L1 d“"lo\, b'ﬂ (?JZ
MUY Y et

Dl
ST o







237, When a number is successively divided by 3,
4 and 7, the remainder obtained is 2, 3 and
5, respectively. What will be the remainder
when 42 divides the same number?
Siq frdlt gEar Fr FAM: 3, 43R 7 @
o frar smar g, @ dvwa Faen
2, 3 3k 5 gred g §1 9 36 @&
® 42 ¥ fafaa fFar s ar grea
AYFA AT |

a)41 b) 30 %9 d)31

LMEYD N4 g ;’M 9

T

| SSC CPO 25 Nov 2020 S2 | 12



241 @as)

N= 5@1—2
Yb+42)
=1Qb +1]
)

@Gr 5)

-

13



14



Yoo

Y
N= Lem(us)n +17
= 209417
S)iTyE (e

288. A number when success_i‘yely divided b\f‘_t_f and
> leaves a remainder 1/'and ‘zrespectively.
When it is successively divided by 5 and 4 the
respective remainders would be '

TH HEIT I TMEAR 4 3R 5 T HEr &
W AYhT HAMW: 1 3 4 7 T &1 I
U FIER 5 3T 4 & omer X Smar #
ar AYE FIAT FIM?

and 3 b)3and 2
c)dand1 d) can’t say

E | 15



29. HVgen a n mber " is successively d'}wded by
and 7 it gives remainder ll 5 and
3 respectively. Find that value of X such that

¥, + 1,2 g x0)xcl2

U+ 510+ 2x Ax8 tlies between 5200 and 54002
_ Jq FE TEA X FAEF T F 9,8 3R
Ut UC+216 =265 7 ¥ fsfaa eﬁ’r }, @ aE wAE
4,53 3AY Y & X &1 Ig A AA
LCM((@—H)“*QG; ST 5200 3 5400 & o &2
1z 5305 b)5314 ¢)5286  d)none
= VUMt 265
\
= 5oup
r260 > 5305

D —



240, In a division sum, the divisor ‘d’ is 10 times
the quotient ‘g’ and 5 times the remainder

259 < ‘r’. If r = 46, the dividend will be
‘L 1T & fRdY e F HTSF (d) HTTHA
S

(q) @ 10 3o 3T A¥ () 5 IO T |

- e r=46F A HIST FAT P ?
6 a) 5042 b) 5328
5336 d) 4276
xRy 6
= 9290
+ub
5336

SSC CGL 2016 T-2 1



8 x 2al. The divisor is 24 times the quotient and 8

&z times the remainder. If the quotient is 18,
9x2u IR then the dividend is:
o HoTsh AT HT 24 e i Avwer
F 8 I ¥ AR smrHa 18 ¥, @
3 x — AT &.
> 7939 ¥ 7630
y7840 N{74_5.0
B S
—

| SSC CHSL, 26 Oct 2020 S3 | 18



Yx 292.In division sum, the divisor is 4 times the

/—\ quotient and twice the remainder. If aand b

a are respectively the divisor and the divided,

Q b 4 then
ﬁo‘a"r e & weT H HIoTHh, HTHA
2\ I 3R AYFT FAET P

T
3;:11 ﬁbmer oo 3 oTeT &

2 _
4a—a —3 b)4b 2a

a a?
c)(a+1)2=4b /f{/“ (“;2) — 4

[sscceL2011T-2 | 19



293 Two positive numbers differ by 3951.
When the larger number is divided by the
smaller number, the quotientis 12 and the
remainder is 13. The sum of the digits of

S:gqgg the larger number is:
(/ A UelcHE FEAHT A 3951 & HAW 8| I«
=258 I3 §&AT & o1 gear ¥ fQwea fFar
ST &, @ %N 12 AT § 3R 9w 13

m%lﬁﬁ*aiﬁaﬁmmwm
ﬂq
“UT

a) 12 c)18 d) 14
—

T3C® 2
Y309 = |

20
CPO 2022 S3, 11 Nov 2022

b ]15+13




S= l%o:
g
JGD'TDMS
:_ZZ\W_ﬁ[u'

2494, Two positive numbers differ by 2001. When
1 3St4| s q GJTZ S the larger number is divided by the smaller

5

Y| exhra number, the quotient is 9 and the remainder

is 41. The sum of the digits of the larger
number is:

A UeTcH® EITHT F 2001 FT IR g
g3 &I 1 S gEur ¥ Renfea
F T HETHA 9 3 AT 41 FuaT g
g3 TEAT & 3{hT ST JET FAT 72
a)15 b) 11 c)10 \){14

| SSCCGL 13 Sep 2019 T2 | 21



295. On dividing 8675123 by a certain

a)—g% 75[,,2?3@36” number, the quotient is 33611 and

the remainder is 3485. The divisor is

3Yg5 8675123 A TF MRaq dear @
T ¥ W HWETG 33611 3
AT 33611 30TdT &1 Held AT

BET iz~ éﬁ,@xq%%g% Aol

X) 248 6) 538

L »{356 258
d=5ya
‘.’.q
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